P26

(2)

5>

GE1~5)

ELE5ND

ﬁﬂa /LN = sever quota, strong quota /
Eﬁ b LY 5 ”ﬁi% :%é s fbfgg = the job which is charged in a sever condition
%éhé <p|a|n style-nonpast-affirmative> of n%é N E 9 (be burden, be charged) is the
passive-verb of u% L 79 g1 (burden, charge)
J\—RJL =hurdle /
Z Tl %:’é In this passage, it means ‘standard, basis, criteria, norm’. /
U & IF A% = <plain-style-nonpast-affirmative> of U & [FHZ D £9 g1 = be dispirited, be

dejected, be disheartened, lose heart, become discouraged, despair /
O &EL =terribly /

MNo>MD 9 % = <plain-style-nonpast-affirmative> of h’>H'D U F 9 g3 = be disappointed, be

dejected feel let down, lose heart /

‘f’ﬁ’i@ < £ % = <plain-style-nonpast- afflrmatlve> of ‘Frﬁ&) << DZ%EF gl=bindup/

%532.% <plain-style-nonpast-affirmative> of %’i‘zi? g2 = finish, end, make ~ finish

H 7% ENTE\ = cannot look down on, cannot make light of = <plain-style-nonpast-negative> of
HIFENFT (can look down on, can make light of) which is the potential-verb of &7 &E D X
g1 (look down on, make light of) /

WL WU

B2 TE72 ) = cannot make light of = <plain-style-nonpast-negative> of B T= %9 (can

AN

make light of) which is the potential-verb of 847 L £ 9 g3 (make light of) //

{The sentence is written in the plain-style.}

blcU

=1/
|& <topic particle>/
E 755 5M & EZIE = If you ask me which to choose, strictly speaking
E Z & =if (X) say = conditional-form of EL\EK 9 g1 (say) /
e
1R = root /
Y <subject particle> /
5 TATE
FLKH = optimistic /
2 = <plain-style-nonpast-affirmative> of ‘[na-adjective / noun] T9’ =is (are am, etc) /
H. =but,/
oML
H = the old days, the past /
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|& <topic particle> /

E‘.%j@ ?ﬁf%u\;d\ / JLX = sever quotas of sales /

[C/

HEUATE & B $5, =<plain-style-nonpast-affirmative> of ZUATE CEHMDY) HDH XTI =
have ever suffered before.

* i%é' U A 72 = suffered = <plain-style-past-affirmative> of 3%6“ L &#FX 9 g1 (suffer, endure, tolerate;

groan; be worried)
* [ta-form] Z &Y 3 D £J = have ever done ~ before //

| am rather optimistic at heart, but | have ever had a hard time with sever quotas of sales in the
past.

Bh

25 W5 BRO FHv5 = from the inside of days like that /

LD LD = before | realized, before | was aware of /

% Ic DlFfc Z & =the thing which (X) mastered (learnt)

* %6: D ¥ 7z = mastered, learnt = <plain-style-ast-affirmative> of %LC D} XY = mater, learn,

wear, be dressed in (clothes, shoes, jewelry, glasses, etc.) /
D V&D=oneof ~/

Y <subject particle> /
rb%bﬁ%d) J\— R )L= a hurdle of a feeling of happiness /
%Z <direct-object particle> /
?E_%< 9 %, = <plain-style-nonpast-affirmative> of ?E:K L £9 g3 = make ~ low, lower
* (A) % [stem of i-adjective] < UL & T, (A) Z [stem of na-adjective] IC L ¥J = make (A)

[adjective]
*(A) %Z [noun] IC UZE 9 = make (A) [noun] /

12> 1co = <plain-style-past-affirmative> of {{na-adjective / noun] T9’ = was (were, etc) //

One of the things which | learnt in those days before | realized was ‘making the hurdle of a
feeling of happiness lower’.

fc & ZIE. =For example, /
W (F

HE—HD ETBT= at the place where | should make another one step /

UL\\‘J< 89
ff’]?b\ ff*’\tnb\j f= B. =on the when | could not contract
8Y
%u/\‘tib\') f= = could not tie = <plain-style-past-negative> of #&/X % 9" (can tie) which is the
oY
potential-verb of $50' X 9 g1 (tie, bind, link) /

TP < &9

* 2% $EO'E 9 g1 = contract, create a formal agreement /
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— on the day when | could not contract although | was just one step short of doing so /
Q\E = company /
i< <arr|val partlcle>/
)Eo T= }: %, €U, =come back (go back return) and ..

)=' % = <plain-style-nonpast-affirmative> of )=' N ¥ 9 g1 = come back, go back, return
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. /
U & I[FH R % = <plain-style-nonpast-affirmative> of U & IFH XD £9 g1 = be dispirited, be
dejected, be disheartened, lose heart, become discouraged, despair /
{%b D (C = instead of ~ N2 No.22A

LeB5&S

%M &K & = with that company president /
Ws U h A
—KFfEH = for as many as one hour /

(E7
#EE % & 23 F£T = until the place where (X) can talk

137 137

* 55 % = <plain-style-nonpast-affirmative> of 5 &9 (can speak, be able to speak) which is
the potential-verb of % L ¥9 g1 (speak, talk) /

& /21 = came = <plain-style-past-affirmative> of = &9 g3 (come) /

& <quotation particle> /

é‘%{@ %%é = one’s own result /

%Z <direct-object particle> /

%’)HT = %’)H%o % L. =discover and ....

* %’D |7 % = <plain-style-nonpast-affirmative> of %’D |7 &9 g2 = discover, find out /

V&5H

M9 B, = <plain-style-nonpast-affirmative> of niFfﬂﬁ L £ 9 g3 = evaluate, estimate //

On the day when | could not contract although | was one step short of doing so, | find my result
and evaluate it, “| have reached the point where | am able to talk with that company president
for as many as one hour” instead of going back to my company and feeling dejected.

%5159’C in that way /

“H H =one day /

%Z <direct-object particle> /

ﬁ‘b 67) << i =if (X) finish = conditional-form of ‘fb << D ZET g1 (finish, end, make ~ end) /
E1}§EI’\ D ﬁ,jéﬁojxf = vitality (energy) towards tomorrow /

H =also/

5% WT &7z, =began to gush out = <plain-style-past-affirmative> of 5% WTE XTI =beginto
gugh out (spring out)

*BZ X9 g1 =gush out, spring out
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* [te-form] & X9 = 1. go there to do .... and will be back 2. start to do, begin to do 3. (with
the past tense,) have been doing ... so far //

If I end the day in that way, the vitality towards tomorrow began to spring out.

LeeE
f£== = work, occupation, labor, task /

Z®D b D =itself, the very thing, its own body /
b, =also/
rffé = work, occupation, labor, task /
(& <topic particle> /
i_@ﬂ;ﬁﬁ W' = a hobby, playing, etc /
&/
|& <topic particle> /
EM 5, = <plain-style-nonpast-affirmative> of 5HL\E 3 g1 = differ, be different, be wrong, be
mistaken /
fi% = work, occupation, labor, task /
|& <topic particle> /
ato%g = money /
% <direct-object particle> /
H 5 S = <plain-style-nonpast-affirmative> of £ 5V X 9 g1 =receive, get /
M 72 = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of {na-adjective / noun] da’
becomes ‘na’.)] D TI=...... , | wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... , |
want to emphasize ; ....., | really want to say so ; because ...... — (O can be changed to A.
M5, =because ~/
;?Z L <7&\L\ Z & = the thing which is not enjoyable (fun) /
HY <subject particle> /
& > TH =even if there is ~, even if (X) have ~, even if (X) exist
* D XY g1 =there is ~, have ~, exist
* [te form] H =evenif ~/
—_—Llf' o=} HUJ = usual, common, ordinary, natural, reasonable, obvious /
é: <quotat|on particle> /
/L,\\'DT ,uo fco UL T, =thoughtand ..
* %o fc =thought = <p|a|n-style-past-afflrmatlve> of ,ub\i"g'” g1 (think) /
P >7T ZFfo =have been doing ~ so far = <plain-style-past-affirmative> of ¥* > T X9 (will
have been doing)
*PDXF =1do 2 (superior) give (inferior)

4/17



* [te-form] & X9 = 1. go there to do .... and will be back 2. start to do, begin to do 3. (with
the past tense,) have been doing ... so far //

Regarding the work itself, | thought as follows and have been doing it so far. ‘A work is different
from a hobby and playing. Because | get money by working, it is very natural (common) even if
there is the thing which is not enjoyable.’

% Z =there, that place /
%Z <direct-object particle> /
Elwh
EX(T 1 = if (X) make ~ a standard = conditional-form of E#(C U £ 9 g3 (make ~ a

standard)
* (A) % [stem of i-adjective] < UL & T, (A) Z [stem of na-adjective] IC L ¥J = make (A)
[adjective]
*(A) Z [noun] IZ U EJ =make (A) [noun] /
R Dz & = alittle trouble
|& <topic particle> /
;;m 0) Z & & UT = as a natural thing, as a matter of course N2 No.1
Fﬁ‘b‘)\hbh% <plain-style-nonpast-affirmative> of ?:H)\*Lbniﬁ“ which is the passive-
verb (be accepted) or the potential-verb (can accept) of xb‘ )\*Li"é‘ g2 (accept) /
U. =[plain-style] L. =~ and what’s more, not only ~ but also ..., because ~ <lt is often to

used to list reasons.> /
A LW ZEAY B> fc & F =when something good thing happens

* 8 o fc =there was ~, had ~, existed = <plain-style-past-affirmative> of & D £9 g1 (there is
~, have ~, exist)

* [plain-style (but, ‘da’ of [na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
& & =when (X) do (did, is doing, was doing, etc) ~ /

|& <topic particle> /
ra%%’ai H 5\ I@HY5 = while receiving money
* [masu-form] 7&H¥5 = while doing ~ N2 No.144 (different expression) /
Z AR ’%T%E = feeling like this /
%i <direct-object particle> /
ﬂikbz_é <plain-style-nonpast-affirmative> of ﬂikbz.i@“ (can taste) which is the potential-
verb of IJEHO WX g1 (taste, savor, relish) /
7% AT = here this means ‘I cannot believe it, It is so wonderful’ /
& <quotation particle> /

Lo DA
Bk = a feeling of happiness /
® =also/

Hne2 Hnzs
5189 %, = <plain-style-nonpast-affirmative> of {£3& L &£ 9" g3 = double, increase twofold /
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If I make it a standard, | can accept a little trouble as a matter of course, and what’s more when
something good thing happens, the feeling of happiness doubles. ‘I can taste (enjoy) the feeling
like that while getting money, so it is wonderful?’

&£ St = anyhow, after all /

CAtWn WoTW U oA

ANED —FE D KfE= the fixed time of one’s life /
% <direct-object particle> /

L&

f£== = work, occupation, labor, task /

w‘\’fé" <plain-style-nonpast-affirmative> of & wﬂb LEJ gl =spend/

@ = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] ® TI=...... , | wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... ) |
want to emphasize ; ....., | really want to say so ; because ...... — @ can be changed to A. /
785 = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] &5 = if ~

<supposition> <lIt is followed by an expression that conveys the speaker’s judgement or a
question asking for the listener’s opinion.>/

%@ﬁ%?s% = that time /

7'J\ <subject particle> /

22 ZX U L\ = <plain-style-nonpast-affirmative> of % a2 LW TY = (X) is enjoyable (fun) /

é: <quotation particle> /

UZ_% <plain-style-nonpast-affirmative> of ,uzi? (can think) which is the potential-verb of
,u\\,\i@' g1 (think) /

(&2 DY LU\ = <plain-style-nonpast-affirmative> of ‘[dictionary-form] (&5 A L\WWT 9’ = would
rather do ~/

i/

53%? 27T W3, = <plain-style-nonpast-affirmative> of 53&& 27T WX = ltis quite natural
that ... = N2 No.101

* 53%& N %9 g1 = be decided, be settled //

Anyway (Anyhow), if we spend the fixed time in our lives for working, it is quite natural that we
would rather be able to think that these hours (working hours) are enjoyable.

%N IC = besides, moreover, in addition to, in addition, furthermore /

fed fed

XL L) = <plain-style-nonpast-affirmative> of 2 L L\ T9 = (X) is enjoyable (fun) /
& <quotation particle> /

BH &b - .

B-oT=B>5, £ULT. =thinkand ....
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* %5 = <plain-style-nonpast-affirmative> of %Mi@“ g1 = think

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. /
9% Z & =what (X) do, the thing which (X) do /

— the thing which (X) do with thinking that (A) is enjoyable /

\& <topic particle> /

%75‘& = one way or another /

A Ls—ZXZ = smoothly /

TE;;{)‘ = %/U’C = %/3\‘0 ZUT, =carryand ..... )

* 3E /3 g1 = <plain-style-nonpast-affirmative> of EU“&@" g1 =to carry, to transport, to move, to

convey
* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal. /

&L%g = result, fruit, product /

H =also/

HH B = <plain-style-nonpast-affirmative> of »H'D £39 g1 =rise, go up /

HD 2, = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of {{na-adjective] da’

becomes ‘na’.)] H® T =itis natural that ..., it is common that .... N2 No.110B /

What’s more (Besides, Moreover), it is natural that the thing which we do with thinking that it is
enjoyable goes smoothly one way or another, and we can obtain good results (can achieve
success)

<> LT =in this way /

i?}%/f%b = good circulation / )

%i 7T <%, =<plain-style-nonpast-affirmative> of £%NT =% = start to be born
*£FNFT =be born

* * [te-form] & X9 =1. go there to do .... and will be back 2. start to do, begin to do 3. (with

the past tense,) have been doing ... so far //

Good circulation starts to be born (starts to come into existence) in this way.

U)\t = person, human being /

|& <topic particle> /

;’?: L LY = <plain-style-nonpast-affirmative> of ;’?: L W TY = (X) is enjoyable (fun) /
M5 = because ~ /

ADE
%28 = a smile, a smiling face /
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i/

73 % = <plain-style-nonpast-affirmative> of 72 D &9 g1 = become

* [stem of i-adjective] < 72D £ T ; [na-adjective] IC & D ¥J = become [adjective]

* [noun] IC 7& D X9 =become [noun] /

D 12 = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’

becomes ‘na’.)] ® TI=...... , l wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... ) |
want to emphasize ; ....., | really want to say so ; because ...... — @ can be changed to A. /
H. =but,/

F%£ 9 =firstofall/
ZNE

%8 = a smile, a smiling face /

%Z <direct-object particle> /

D < % = <plain-style-nonpast-affirmative> of 2 < D ¥ g1 = make, produce, create /

& =.... and naturally (consequently) /

Z 1 IC &K > 7T =because of that N2 No.13B /

l%f LW ’%T%B = enjoyable feeling /

HY <subject particle> /

5%b\‘c < %1 = <plain-style-past-affirmative> of 5%\:\? Z £ 9 = begin to gush out (spring out)
* 5%% %9 g1 = gush out, spring out

* [te-form] & X9 = 1. go there to do .... and will be back 2. start to do, begin to do 3. (with
the past tense,) have been doing ... so far/

EWS wﬁlﬁj%?gﬁjﬁ = the result of a study (research) which is ~

*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /
Y <subject particle> /

% % = <plain-style-nonpast-affirmative> of % D &9 g1 =there is ~, have ~, exist /
& LS = <plain-style-nonpast-affirmative> of & L\UL\EK 3 = They say that ~, People say that
~, | hear that ~ //

A human being smiles because he is happy (he enjoys), but they say that there is the result of a
study which is “You smile at first, and naturally enjoyable feeling will start to spring out by doing

F£E B = a sense of fulfillment /
%

<direct-object particle> /
z Lce

B5n3 35 = the job which (X) can get (obtain)
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= 1% = <plain-style-nonpast-affirmative> of BenEY (can get) which is the potential-
verb of 3% ¥ g2 (get, obtain) /
— the work which (X) can get a sense of fulfillment /
% <direct-object particle> /
%LC 9 % = <plain-style-nonpast-affirmative> of %LC L ¥9 g3 = get, obtain /
t |& = in order to do ~ /
S22 b »3 1bf$§ = the work which (X) can enjoy
. ZU 675%) <plain-style-nonpast-affirmative> of Z& S22 L & F 9 (can enjoy) which is the potential-
verb of 2 s L&A FT gl (enjoy)/
%@“ @ = to search, searching “
* %&@“ = <plain-style-nonpast-affirmative> of ?7’7135 L &9 g1 = search, look for, seek

* Here ‘no’ is used to make a noun phrase (to change a verb to a noun). /
H =also/

£wL FwL

KZETZ = <plain-style-nonpast-affirmative> of X T3 = (X) is important /
H. =but, /

50

/J\'c’S Z & T¥H =even asmall thing /
22 EULHD KDIC 185 T & =toreach the point where (X) can enjoy, reaching the point where
(X) can enjoy

. U 67)% <plain-style-nonpast-affirmative> of % 22 L £ 9 (can enjoy) which is the potential-
verb of Z s L&A FET gl (enjoy)
* K DIT 72 % = <plain-style-nonpast-affirmative> of & 5 IC & D £ — [dictionary-form] & 5 (T
72D £ 9 =reach the point where (X) do ~ * [nai-form &N — 75 <] 72 D £ 9 = reach the point
where (X) don’t do ~

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /
H =also/

LAY L

BT = unexpectedly, surprisingly /
H 7% ENTE\ = cannot look down on, cannot make light of = <plain-style-nonpast-negative> of
H1FENFT (can look down on, can make light of) which is the potential-verb of &7 & D X

g1 (look down on, make light of) /
N1 > NFZo = <plain-style-nonpast-affirmative> of 7R >~ kN T3 = (X) is a point //

If we follow this, it is important to look for the job which we can enjoy in order to get the job
which we can obtain a sense of fulfillment, but reaching the point where we can enjoy even a
small thing is also the point which we cannot despise surprisingly. (the point = an idea put

forward by a person in discussion) &
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rjé%j‘: > H%;% I = the medicine which you apply on your superior (boss)
* D1F % = <plain-style-nonpast-affirmative> of 23 X9 g2 = attach /
NRIAY I\LL)@\jF'EEJhJ = introduction to management
* LLJDCF'%A = primer, study book for teaching fundamental concepts and skill; manual, instructional
?S,(_?Hit; entering an institute /

FBAttIc £ B = published by Kou Dan Sha //

P27

(163

LD U A = before | realized, before | was aware of /
H
Blc DIFfe T & =the thing which (X) mastered (learnt)
l7a 7
* BT DIz = mastered, learnt = <plain-style-ast-affirmative> of &IC D} £ 9 = mater, learn,

wear, be dressed in (clothes, shoes, jewelry, glasses, etc.) /
D V&ED =oneof ~/

— one of the things which | learnt before | realized /
D ?’;‘J & UT = as the example of ~ N2 No.1/
%L\ H D = near thing /

|& <topic particle> /

EN D =<plain-style> of £ TI H = Which (one) is (X)?

Which is the nearest as the example of one of the things which | learnt before | realized?

TAEW

E7./ D AT = by a piano teacher /

\d <topic particle> /

%% = nothing, (not) anything /

%bh 72 H > f= = was not said, was not told = <plain-style-past-negative> of %bhi@“ (be
said, be told) which is the passive-verb of %L\i@“ g1 (say) /

PheEdH, =FEH =T =D =but,/

ézﬁj/(T = by oneself /

|& <topic particle> /

5% < = skillfully /
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ONTF 72D > T2 = couldn’t play (a musical instrument) = <plain-style-past-negative> of ONF &R 9
(can play (a musical instrument)) which is the potential-verb of & £ g1 (play (a musical

instrument)) /

DT =because /
oF

R = net time /

|& <topic particle> /
H>& =more/

N AhiE

mEIR D =L\ = <plain-style-nonpast-affirmative> of JIESE D f=\\ T9 = want to do one’s best /
M’E‘E N £9 g1 =do one’s best

* [masu-form] 72WL\CT9 = want to do ~ /

%: <quotation particle> /

%\5 o = <plain-style-nonpast-affirmative> of ,ub\i"tf g1 = think //

| was not told anything by my piano teacher, but | think that | will do my best more next time
because | couldn’t play well (from my viewpoint.)

Ui AT
IN—F 1 —D #{E%Z 9% D =to prepare for a party, preparing for a party
Uwhl LAl

* #£{i59 % = <plain-style-nonpast-affirmative> of #£f& L £ 9" g3 = prepare

* Here ‘no’ is used to make a noun phrase (to change a verb to a noun). /

hH¥ <subject particle> /
feWAA feWwAA

RETZ > fc = (X) was awful (dreadful, terrible) = <plain-style-past-affirmative> of XZTY = (X)

is awful (dreadful, terrible) /

FnEH, =FEH =FE. =D =but,/

H A 73 = everybody /

H¥ <subject particle> /

fj—kT <hifc = (X) was delighted (was glad) and he gave me a favor = <plain-style-past-
affirmative> of E/u'( <NZFT ((X) is delighted (is glad) and he gives me a favor)
“ SUF T g1 = be delighted, be glad /

DT =because ~/

F7c =again /

th = certainly, without fail, by all means / )

%% & 7L\ = <plain-style-nonpast-affirmative> of %5% 72U\ T = want to open
*I\—T 1 —%& %%% £ 9 g1 = have a party

* [masu-form] 7=L\ T9 =want to do ~ /

& <quotation particle> /
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35
B>, = <plain-style-nonpast-affirmative> of ,ub\iﬁ“ g1 = think //

9r

)

Tigk

< £52
AT < 1fc = was delighted and gave a favor *E=0'%X 9 = be delighted

The preparation of the party was very tough, but | think that | want to have a party again
because everybody was delighted.

Eéb\?—h = a strong team /
Y <subject particle> /
ﬁ‘gﬁg?“ = ;ﬁgﬁf >fco £ UL T, =(X) was a companion (partner, company; opponent, rival)
and ....
H W T H W T

* HH3F 72 - fz = <plain-style-past-affirmative> of f8F T9 ((X) is a companion (partner,

company; opponent, rival))
* To join the sentence which ends with [i- adjective / na-adjective / noun] 3’ to another

sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] T’ is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence. /

:itﬁchu\ = match, game /

H#’Ctﬂb\o = = couldn’t win, was not able to win = <p|a|n style-past-negative> of H%’C X7 (can
win, be able to win) which is the potential-verb of 5%7’5 x9 g1 (win)/

FnEH, =FEH =FE =D =but,/

%Tﬁh = score, points made, marks obtained; runs (Baseball) /

%Z <direct-object particle> /

JL\U’L% Z &HY TEfc = could put in, was able to put in = <plain-style-past-affirmative> of JL\\*L
% Z&EH TEZXT (can putin, be able to put in)

* )u\h% = <plain-style-nonpast-affirmative> of JL\\hi"é” g2 = putin

* [dictionary-form] Z &A% TZ X9 = can do ~, be able to do ~ /

DT = because ~ /

£ h o fo = (X) was good = <plain-style-past-affirmative> of L\LN T3 = (X) is good /

& <quotation particle> /

A
# Z %, = <plain-style-nonpast-affirmative> of %Z.i@“ g2 = consider, think over //
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Our opponent was a strong team and we couldn’t win the match, but | consider that it was good
because | scored.

T_J?b\ = somethlng /
E&"o > & B ,uo T Wiz = (X) was thinking of buying = <plain-style-past-affirmative> of %85
é:,b\o’C WERI =(X)is thlnklng if buying

Ed‘o 2 = volitional- form of E\Ai@“ Let’s buy (plain-style), | shall buy (speaker’s volition)
* [volitional-form] & & ,mo T WX = (X) is thinking of doing ~, (X) is thinking that (X) will do
~/
T TIE 72U\ = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective] da’
and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively)] 1013 Tld & D ¥ A’ =it doesn’t meand
that ~, I don’t mean to say that ~/
FThEH. =FEH. =1FE =D =but,/
E & 'D E = jUSt right, exactly, precisely /

t )\9 fc HE = the clothes which | like

f»h_ )Ko fc = liked = <plain-style-past-affirmative> of %LZ )L\ N ¥9 g1 =like, be fond of,

prefer /
Y <subject particle> /

2z F
B Ohv o 7c = (X) was discovered (was found) = <plain-style-past-affirmative> of R OH'D ¥9

g1 (be discovered, be found) /
DT =because ~ /

£ h o fc = (X) was good = <plain-style-past-affirmative> of L\LN TF = (X) is good /
& <quotation particle> /

AN
# 2 %, =<plain-style-nonpast-affirmative> of %1&@“ g2 = consider, think over //

| don’t mean to say that | was thinking of buying something, but | consider that | was lucky
because | was able to find the clothes which | liked at the right moment.

ZZ & =2 £EWD D + I <topic particle> = the thing called ‘there’/

*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the
contents of some noun. In (X) to iu (Y)’, (X) illustrates (Y) concretely.) /

ﬂ?b\ = <plain-style> of A ﬂT@“?ﬁ)\o = what is (X)? /
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What is ‘there’ in the passage?

Lo
f£== = work, occupation, labor, task /

IC <existence particle> /

\& <topic particle>/

5%5‘9"‘; = troubles, hardships, adversity, disaster; burden; grievance; grief /

HY <subject particle> /

3 % = <plain-style-nonpast-affirmative> of 3% D £ 9 g1 = there is ~, have ~, exist /

H D 12 = <plain-style-nonpast-affirmative> of £ M T3 =it is natural that ~, it is common that
~ N2 No.110B/

E WS Z & = <plain-style-nonpast-affirmative> of &L\ 5 Z & TY =it means that ~ N2

No. XXXX /

It means that it is natural that there are troubles (hardships, adversity, disaster, burden,
grievance, grief) when you work.

L&

=% I1nIL =if (X) work /

* 3 1id = if (X) do = conditional-form of L &9 g3 (do) /

* ?ﬁtjb\ LWL\ Z & = something good thing /

* HY <subject particle> /

3 % = <plain-style-nonpast-affirmative> of 3% D £ 9 g1 = there is ~, have ~, exist /

E WS Z & = <plain-style-nonpast-affirmative> of &\L\5 Z & T9 =it means that ~ N2
No. XXXX /

It means that there is something good if you work.

Lok

£%E T = at work /
|& <topic particle> /
e
BEZ 55 D =to receive money, receiving money

* Here ‘no’ is used to make a noun phrase (to change a verb to a noun). /
hHY <subject particle> /
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ESFA ESFA
LHRTZ = <plain-style-nonpast-affirmative> of 42 T =it is quite natural that ~, it is a matter

of course that ~ /
& WS Z & = <plain-style-nonpast-affirmative> of &L\ 5> Z & T9 =it means that ~ N2
No. XXXX /

It means that it is quite natural that you get money when you work.

4

Lo
f£= = work, occupation, labor, task /

|& <topic particle> /

> F < = skillfully /

WHVR K T = WH7RL, ZUL T, =dontgo and ..

* [na| form 72N — 75 <] T is used to join sentences /

-_—"171 D ﬁut = <plain-style-nonpast-affirmative> of J='| b HUT@' = it is a matter of course that
~/

E WS Z & = <plain-style-nonpast-affirmative> of &L\ 5> Z & T9 =it means that ~ N2
No. XXXX /

It means that it is a matter of course that the work doesn't go well.

(165
KU &>
ZD XET = in this passage /

OoULw \

BED S o) & =the thing which the author wants to say
* HY <subject particle> in the modifying sentence can be changed to @.

* &L\ L) = <plain-style-nonpast-affirmative> of E\\ 7=\ T = want to say
* [masu-form] 72U\ T9 = want to do ~ /

What is the thing which the author wants to say in this passage?

L&
f£= = work, occupation, labor, task /

H =also/

Lo EWn

#&—*F = as much as possible, the most that is possible, with all one's strength /
Z 1 Z1F =that much, as much, to that extent, to the same extent /
Lw>U2hA

FE3E & = the feeling of fullness /
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% <direct-object particle> / ]
B2 N TES, = <plain-style-nonpast-affirmative> of B2 M TEET =can get
(obtaln) be able to get (obtain)

5 % = <plain-style-nonpast-affirmative> of 1=f§§“92 get, gain, obtain, acquire, procure,

earn, win, enlist, derive
* [dictionary-form] Z &A%Y TZ X9 =can do ~, be able to do ~ /

(Regarding a work as well as other things,) If you work with your all might, you can get the
feeling of fullness which is suitable for your efforts.

2

Tbi: - work, occupation, labor, task /

H =also/

i\ = first of all, to start with, to begin with, first, firstly /
Umlb%m facial expression /

%’: <d|rect -object particle> /
= u"k"é"% Z & T = by means of becoming consmous (aware) (of)

= .fik@“% <plain-style-nonpast-affirmative> of = .f‘Jz L £ 9 g3 = become conscious (aware)

(of) /
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

;'?'Z LW ’%}%5 = enjoyable feeling /

H¥ <subject particle> /

5% WT < % = <plain-style-nonpast-affirmative> of 5% WT E X7 = start to gush forth (spring
out)

* 5%% %9 g1 = gush forth, spring out /

* [te-form] & EX 9 = 1. go there to do .... and will be back 2. start to do, begin to do 3. (with
the past tense,) have been doing ... so far //

(Regarding a work as well as other things,) Enjoyable feeling will spring out by becoming
conscious of our facial expressions at first while working.

B4t Zliél ?é‘& {15 = the work which (X) really likes /
THNIF = [stem of na-adjective / noun] T 1ld = conditional-from of ‘[na-adjective / noun] T
3 D F¥ 9 which is more formal than ‘[na-adjective / noun] T3 =if (X) is (are, am, etc) ~ /
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2N H
EEC = with a smile /
)]

fed
HLUEL & TED, = <plain-style-nonpast-affirmative> of XL T &EHAY TEEX I =can
enjoy

e

\/

ed fed
* 2 U E = <plain-style-nonpast-affirmative> of 2 U # %9 g1 = enjoy
* [dictionary-form] & &hY TZ X9 = can do ~, be able to do ~ /

If it is the job which you really like, you can enjoy it with a smile.

50
INE W Z & = small thing, small matter /

i</

%5—%} = joy, delight, pleasure, gratification /

?%’D Z & T =by means of holding

* T%’D = <plain-style-nonpast-affirmative> of T%B &9 g1 = hold, possess, carry

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /

gﬂéb < =enjoyably /

Tbi% = work, occupation, labor, task /

¥ <direct-object particle for the potential-verb> /

TES £KDIC 125, =<plain-style-nonpast-affirmative> of TZ % K3 I(C 7& D ¥9 =reach the
point where (X) can do ~

* TZE % = <plain-style-nonpast-affirmative> of T& &9 sg2 =1 can do, be abletodo 2 be

ready, be completed, be finished
* [dictionary-form] & 3 IC 7& D F¥9 = reach the point where (X) do ~
* [nai-form &L — 72 <] 7& D ¥ = reach the point where (X) don’t do ~

You will reach the point where you can work enjoyably by having delight over a small matter.
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